BORILLA oPORTS

Punching Sit Up Bench (100804)




HUORILLA oPOATS

Washer: (¢8) Lock Nut: (M8) Washer: (¢ 6)
© © ©

6X 3X 4X

Inside PAN-HEAN Bolt: (8%55) Hex Bolt: (M6%16)

—

1X 4X

Hex Bolt: (M8%55) Hex Bolt: (M8+*60)

X 2X



47cm—62cm

PUORILLA oPORTS

=

@!&;1(((4(&(

—

Y,
(
N
.

100cm—119cm

Maximum load 200KG



© @ ©

PAN-HEAN Bolt (8%55)-1PC

W

Hex Bolt (M8*55)—1PC

Washer (¢ 8) —2PCS

Lock Nut (M8)-1PC







3 ©) ©
Washer ( & 8) —4PCS Lock Nut (M8)—2PCS

)

L/

Hex Bolt (M8*60)—-2PCS




© o

Washer (& 6)-4PCS  Hex Bolt (M6%16)-4PCS




